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Quantitative Aptitude for RRB NTPC (Solutions)

$1. Ans.(a)

Sol.

Number are x and y
~x+y=25

x—y =20

On adding,

2x = 45
=x===225
From equation (i},
22.5 +y =25

=y =25-225=25
~ Required ratio = 22.5: 2.5
=9:1

$2. Ans.(a)

Sol.

Journey on foot = x km

Journey on cycle = (80 - x) km
x 80—x

et e

=x=112—-—80=32km.

$3. Ans.(a)

Sol.
Required average
_ Bx3+20x2+26xm+29x1_

3424mt1
= 9mM=9=>m=1

17

$4. Ans.(b)

Sol.

Total annual expenditure of the family
= Rs. (4 x 2570 + 3 x 2490 + 5 x 3030)
=Rs. (10280 + 7470 + 15150)

= Rs. 32900

Total income

=Rs. (32900 + 5320)

Rs. 38220

~ Required average monthly
38220

Income =——— = Rs. 3185
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$5. Ans.(d)

Sol.

Increase in ages of five members in 3 years
= (3 % 5) years = 15 years

As average age remains same,

~ Required difference = 15 years

$6. Ans.(c)
Sol.

Total expenditure of man in a year
= Rs. (4 x 1800 + 8 x 2000)

=Rs. 23200

Total annual income

= (23200 + 5600)

= Rs. 28800

) 28800
~ Average monthly income =

12

= Rs. 2400

S7.Ans.(b)
Sol.

Required mean

_1x142xXZ+3 X3+ X AEEXELEXEFTXT

1+2+3+4+546+7
_ 1+4+94+16+25+36449

28
5

_ a0
28

$8. Ans.(d)

Sol.

Required number

= sum of six numbers - sum of five numbers
=6x20-15x5

=120-75=45

$9. Ans.(b)

Sol.

First 5. P. of article

_200%%0 _ o 1aq
100

After decrease of 5%,

s.p. =220 _ps 171
100
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$10. Ans.(c)
Sol.

20 items are broken out of 144 items.
~ C.P.of 124 items

- Rs. (M) — Rs.129.60
100

Total S.P. = Rs. (1.20 x 124)

= Rs. 148.8

- Gain = Rs. (148.80 - 129.60)
= Rs. 19.20

- Gain per cent

_ 1320 _
= Tooes < 100 = 14.8%

S$11. Ans.(b)
Sol.
A

G

B ) C

AB=10cm

BD=5cm

£ADB = 90°

. AD = +/AB? — BD?
=+/10% — 52 = /100 — 25
=53 cm

AG=ZAD =>X5/3
=1I]Hu'3

3

$12. Ans.(d)
Sol.

@
RRBNTPC

ZA0D = 100°
100
~ £LACD = £ACP = —=50°
z
(The angle subtended at the centre is twice to P R E M l U M
that of angle at the circumference by the same arc) ¢ CBT-1and CBT-II

Again, £BOC = 70° .
70 ¢ 30 Previous Year Papers
-~ LZBAC = ? = 35° = #PAC

~ ZAPC = 180° — 50 — 35 = 95 120 TOTAL TESTS
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$13. Ans.(c)
Sol.

In AACD
£DAC = 55°
LZACD = 907

£D = 180° — 55% — 90° = 35°
~ £LABC + £ADC = 180°
= £ABC = 180° — 352 = 145°

S$14. Ans.(c)
Sol.

B L
AB _ 2

AD 1
AADE~AABC

AE _ BC _ 2

AD DE 1
DE _ 1
T2

BC

$15. Ans.(b)

Sol.
A

B D c

BED =DC

AB =AC

-~ £ZADB = £ADC = 90°
ZABC = 35°

In AABED,

£LBAD + £AED = 90°

~ £BAD = 907 — 35° = 55°
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$16. Ans.(b)

Sol.
¢ North
West East
B ] A South
SABC = aQ®

AB = 24 metre, BC = 10 metre
~ AC=+vAB? + BC?
=+/24% + 107

= 26 metre

$17. Ans.(d)

Sol.
A
e 45°

0= 45
B D C
AD is tower and B and C are two objects,
LABD = 30° and £ACD = 45°
AD = 180 metre

From AABD,
Tan 30° = 22
ED
1 _ 180
3  BD
= BD = 180\,’3 metre
From AADC,
Tan 45° = 22
~DC
= 1= %:} DC = 180 metre
~BC=ED+DC BILINGUAL
=180+/3 + 180 REDDIaT
= 1BD(~\."'§+ 1] metre v Vv v ; v v
i naddazyy -addae«: | faay7 4
$18. Ans.(c) E

Sol. ) RRB NTPC &
GROUP D
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£ACD = 45°

£BAC = 45°

~ (tan® £ZCAD + 1).sin* £BAC
= (tan® 45° + 1) sin® 45°

={1+1j><(%)2=2><§=1

$19. Ans.(b)

Sol.

tanx = sin 45°. cos 45°% + sin 30°
-+ 1 ,1_1,1_
_ﬁ'ﬁ-l_z 2+2 1

s tanx = tan 45° = x = 45°

$20. Ans.(c)
Sol.

gecl—1
secl+1

1—cosh

cozd
1+cosh

cos@
_ J1-eosB  [(1-cos8i(l-cos8)
14+cos8 (1+cos8i{l—cosl)
(Rationalizing the numerator and the denominater)
_ |1-co=8)® _  [(1-cos=B)?
l1-coa®@ ain? &

_1-cos® _ 1 cosd

zinf =inf =zind
= cosecd — cotB.

$21. Ans.(b)

Sol.
Let the angles be A and B where A= B
~A+B=135°
And, A-B
12 12
On adding
A+B+A-B
=135% + 15° = 150°
=2A=150°=>A=-"=75°
~A+B=135°
= B = 135° — 75° = 60°
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$22. Ans.(c)
Sol.

A

From AABD,
BD _ AD
sinBAD  sin ABD
CAD
sinBAD  sing
>AD=2 22 (i)
2 egin BAD
From AADC,
co AD

sinDAC  sinACD
CcD AD

sinDAC ~ sing
1 CD
= AD = —.—
2 =in DAC
From equations (i) and (ii),
v BD 1 cD

2 "sinBAD V2 /sin DAC

sinBAD V3 1
= =— X2 X=
gin DAC 2 3

1

1
‘.IIE x ~~.IiE ~~.Iig

$23. Ans.(a)
Sol.
sin 3A = cos[A - 267)

= cos(90° — 3A) = cos (A — 26°)

=90°—-3A=A-—126"
= 4A =116

= A=22=1700°
3

S$24. Ans.(a)

Sol.
2 i
2 sin” 8-2sin* @
seccf—————
2costB-cos?B
sin® B(1-2sin® 8
=sec’ 0 — ( )

cos? B(2 cos® B-1)

2 B (2cos?B-1)
2 cos® B-1

=sec’8—tan’B =1

=sec?B —tan
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$25. Ans.(c)
Sol.

= a (sinB + cosB) and ¥y = b (sinf — cosB)

e
= - = ginf + cos8 and% = sinB — cosB

=
"P:l | =

“o :—: = (sinB + cosB)® + (sinB — cosB)?
= 5in® 8 + cos® 8 + 2 sinB. cosB + sin® 8 + cos® 8 — 2sinf. cosP

=2 (sin® B + cos? 8) = 2

$26. Ans.(d)

Sol.

= s5in 58 = cos20®

= sin 50 = sin(90 — 20)
= sin 70°

= 56 =70°

=>E|=?=14°

$27. Ans.(d)
Sol.

Required number = (LCM of 15, 20, 36 and 48]} + 3
~LCM=2X2Xx3xXx5xX3 x4 =720

- Required number
=720+ 3 =723

$28. Ans.(c)
Sol.

Sum of all multiples of 3 upto 50
=34+6+ s + 48
=3(1+2+3+....... + 16)

- 3x1608HL) _ 3 8% 17 = 408
nin+l)
2

P1+é+3+m+n=

$29. Ans.(a)

Sol.
a=64andb=289
~a=+/64 =8and
Vb =+/289 = 17

+ (Wa+vb—VVb—va)
=(V8+17-17 - a)i
= (V25 -v9)*

=(5-3)% = (2)F
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$30. Ans.(a)
Sol. 6 Months Subscription
x*+6x+8=x"+4x+2x+8
=x(x+4)+2(x+4) RRB NTPC
=(x+2)(x+4)

X +3x+2=x*+2x+x+2

—x(x+2)+1(x+2) KA MAHA PACK

=(x+2)(x+1)

First expression x Second Expression = HCF = LCM Tes,t Seried, Liva
= (x* + 3x + 2) X Second expression Video Course, eBooks
=(x*+6x+8)(x+1)x(x+1) -

= (x + 2) (x + 1) x Second expression B|||ngua|

_ (2t (xt 10(x+1)

B (x+2)(x+1)

=(x+4)x+1)
=x*4+4x+x+4=x*4+5x+4
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